



St. Louis County, Minnesota

Date of Report: 12/16/2025 6:50:05 PM

Genera	I Details

Parcel ID: 141-0040-05620

Legal Description Details

Plat Name: HIBBING

SectionTownshipRangeLotBlock325621--

Description: THAT PART OF NW 1/4 OF NW 1/4 LYING W OF THE G N RY RT OF W

Taxpayer Details

Taxpayer Name WHITLOCK JUDY TAYLOR

and Address: 2458 STUART RD

HIBBING MN 55746

Owner Details

Owner Name WHITLOCK JUDY

Payable 2025 Tax Summary

2025 - Net Tax \$2,062.00

2025 - Special Assessments \$0.00

2025 - Total Tax & Special Assessments \$2,062.00

Current Tax Due (as of 12/15/2025)

Due May 15		Due October 15		Total Due		
2025 - 1st Half Tax	\$1,031.00	2025 - 2nd Half Tax	\$1,031.00	2025 - 1st Half Tax Due	\$1,113.48	
2025 - 1st Half Tax Paid	\$0.00	2025 - 2nd Half Tax Paid	\$0.00	2025 - 2nd Half Tax Due	\$1,082.55	
2025 - 1st Half Penalty	\$82.48	2025 - 2nd Half Penalty	\$51.55	Delinquent Tax		
2025 - 1st Half Due	\$1,113.48	2025 - 2nd Half Due	\$1,082.55	2025 - Total Due	\$2,196.03	

Parcel Details

Property Address: 2458 STUART RD, HIBBING MN

School District: 701
Tax Increment District: -

Property/Homesteader: WHITLOCK, JUDY

	Assessment Details (2025 Payable 2026)									
Class Code (Legend)	The state of the s									
201	1 - Owner Homestead (100.00% total)	\$35,700	\$122,500	\$158,200	\$0	\$0	-			
111	0 - Non Homestead	\$12,900	\$0	\$12,900	\$0	\$0	-			
	Total:	\$48,600	\$122,500	\$171,100	\$0	\$0	1388			





St. Louis County, Minnesota

Date of Report: 12/16/2025 6:50:05 PM

Land Details

Deeded Acres: 23.00 Waterfront: Water Front Feet: 0.00

Water Code & Desc: W - DRILLED WELL

Gas Code & Desc:

Sewer Code & Desc: S - ON-SITE SANITARY SYSTEM

Lot Width:	0.00								
Lot Depth:	0.00								
The dimensions shown are n https://apps.stlouiscountymn.	ot guaranteed to be su	urvey quality. A	Additional lot	information can be	e found at	@-tl:t			
nttps://apps.stiouiscountymn.	.gov/webPlatsiframe/fi	·	<u> </u>			ax@stiouiscountymn.gov.			
	V 5 W	•		etails (HOUSE	•	0.1010			
Improvement Type	Year Built	Main Flo		Gross Area Ft ²	Basement Finish Style Code & Do				
HOUSE	1930	64		928	U Quality / 0 Ft ²	1S+ - 1+ STORY			
Segment	Story	Width	Length	Area	Foundat				
BAS	1	8	8	64	FOUNDAT				
BAS	1.5	24	24	576	BASEME				
DK	1	8	10	80	POST ON GE				
Bath Count	Bedroom Co	unt	Room C	ount	Fireplace Count	HVAC			
1.0 BATH	2 BEDROOM	IS .	4 ROOM	1S	0	CENTRAL, FUEL OIL			
		Improv	ement 2 D	etails (SHED)					
Improvement Type	Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.			
STORAGE BUILDING	1975	44	2	442	-	-			
Segment	Story	Width	Length	Area	Foundat	ion			
BAS	1	17	26	442	POST ON G	ROUND			
		Improvem	nent 3 Deta	ails (POLE GA	AR)				
Improvement Type	Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.			
POLE BUILDING	1992	70	2	702	-	- -			
Segment	Story	Width	Length	Area	Foundat	ion			
BAS	1	26	27	702	PIERS AND FO	OOTINGS			
		Improvem	nent 4 Deta	ails (RED SHE	ED)				
Improvement Type	Year Built	Main Flo		Gross Area Ft ²	Basement Finish	Style Code & Desc.			
STORAGE BUILDING	2001	12	0	120	-	-			
Segment	Story	Width	Length	Area	Foundat	ion			
BAS	1	10	12	120	FLOATING	SLAB			
		mproveme	nt 5 Detai	Is (METAL SH	IED)				
Improvement Type	Year Built	Main Flo		Gross Area Ft ²	Basement Finish	Style Code & Desc.			
STORAGE BUILDING	1959	80)	80	-	-			
Segment	Story	Width	Length	Area	Foundat	ion			
BAS	1	8	10	80	POST ON GE	ROUND			
		Improvem		aile (OSB SUE					
Improvement Type	Year Built	Main Flo		ails (OSB SHE Gross Area Ft ²	Basement Finish	Style Code & Desc.			
STORAGE BUILDING	1978	Walli Fic		48	Dasement Fillish	Style Code & Desc.			
		Width	Length	Area	- Foundat	ion			
Segment	Story		Ū						
BAS	1	8	6	48	POST ON GE	ZUUNU			





St. Louis County, Minnesota

Date of Report: 12/16/2025 6:50:05 PM

		I	7 D	-:I- /MICC CTI	DO)					
		-		ails (MISC STI	•					
Improvement Type	Year Built	Main Floor Ft ²		Gross Area Ft ²	Basement Finish	Style Code & Desc.				
STORAGE BUILDING	1955	60 60			-	-				
Segment	Story		Length		Foundati					
BAS	1	6	10	60	POST ON GF	OUND				
	Improvement 8 Details (RED LNTO)									
Improvement Type	Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.				
LEAN TO	1975	60)	60	-	<u>-</u>				
Segment	Story	Width	Length	Area	Foundati	on				
BAS	1	6	10	60	POST ON GF	OUND				
		Improvem	nent 9 De	tails (RED LN	ΓΟ)					
Improvement Type	Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.				
LEAN TO	1975	13	0	130	-	-				
Segment	Story	Width	Length	Area	Foundati	on				
BAS	1	10	13	130	POST ON GF	OUND				
		mproveme	ent 10 Det	tails (STRG SH	HED)					
Improvement Type	Year Built	-	oor Ft ²	•	•	Style Code & Desc.				
STORAGE BUILDING	1965	12	0	120	-	-				
Segment	Story	Width	Length	Area	Foundati	on				
BAS	1			120	POST ON GF					
					OF\					
Improvement Type	Year Built	-	or Ft 2	etails (STORA) Gross Area Ft ²	•	Style Code & Doce				
Improvement Type MANUFACTURED	1975	Wain Fig. 39			basement rinish	Style Code & Desc. SGL - SGL WIDE				
HOME	1975	39	U	390	-	SGL - SGL WIDE				
Segment	Story	Width	Length	Area	Foundati	on				
BAS	1	10	39	390	POST ON GR	OUND				
Bath Count	Bedroom Cou			Fireplace Count	HVAC					
1 BATH	-	-		- ;	STOVE/SPCE, GAS					
		Improveme	ent 12 De	tails (MISC LN	ITO)					
Improvement Type	Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.				
LEAN TO	1973	26	4	264	-	-				
Segment	Story	Width	Length	Area	Foundati	on				
BAS	1	11	24	264	POST ON GR	OUND				
		mproveme	ent 13 Det	tails (STRG LN	NTO)					
Improvement Type	Year Built	Main Flo		Gross Area Ft ²	Basement Finish	Style Code & Desc.				
LEAN TO	1974	88		88	-	•				
Segment	Story	Width	Length	Area	Foundati	on				
BAS	1	8	11	88	POST ON GR	OUND				
	Improvement 14 Details (16X26 STRG)									
Improvement Type	Year Built	Main Flo		Gross Area Ft ²	Basement Finish	Style Code & Desc.				
STORAGE BUILDING	0	41		416	-	-				
Segment	Story	Width	Length		Foundati	on				
BAS	1	16	26	416	POST ON GF					
Improvement 15 Details (MOTOR HOME)										





St. Louis County, Minnesota

Date of Report: 12/16/2025 6:50:05 PM

Improvement Typ	e Year Built	t Main Floor Ft ²		Gross Area Ft ²		asement Finish S		Style Code & Desc.		
STORAGE BUILDI	NG 0	17		176		-			-	
Segme	nt Sto	•	Width Length Area		Foundation					
BAS	1	8	22	176		POST ON GROUND				
Improvement 16 Details (OLD BUS)										
Improvement Typ	Type Year Built Main Floor Ft ² Gross Area Ft ² Basement Finish Style Code & De							de & Desc.		
STORAGE BUILDI	RAGE BUILDING 0 192 192							-		
Segme	nt Sto	y Width	Length	Area		Founda	ation			
BAS	1	8	24	192		POST ON (SROUN	D		
		Sales Reported	to the St. Lo	ouis County Au	ditor					
No Sales informa	ition reported.									
		As	ssessment F	listory						
Year	Class Code (Legend)	Land EMV	Bldg EMV	Total EMV		Def Land EMV	ВІ	ef dg VIV	Net Tax Capacity	
	201	\$38,200	\$134,500	\$172,70	0	\$0	\$	60	-	
2024 Payable 2025	111	\$14,300	\$0	\$14,300)	\$0	\$	60	-	
,	Tota	\$52,500	\$134,500	\$187,00	0	\$0	\$	50	1,560.00	
	201	\$40,000	\$124,600	\$164,60	0	\$0	\$	60	-	
2023 Payable 2024	111	\$15,300	\$0	\$15,30)	\$0	\$	60	-	
,	Total	\$55,300	\$124,600	\$179,90	0	\$0	\$	60	1,575.00	
	201	\$33,700	\$88,800	\$122,50	0	\$0	\$	60	-	
2022 Payable 2023	111	\$11,700	\$0	\$11,70)	\$0 5		60	-	
	Total	\$45,400	\$88,800	\$134,20	0	\$0	\$	60	1,080.00	
	201	\$31,000	\$75,400	\$106,40	0	\$0		60	-	
2021 Payable 2022	111	\$10,200	\$0	\$10,20	\$0 \$		60	-		
•	Total	\$41,200	\$75,400	5,400 \$116,600		\$0	\$	50	889.00	
		7	ax Detail Hi	story						
Tax Year	Tax	Special Assessments	Total Tax 8 Special Assessmen		nd MV	Taxable Bui MV	lding	Total	Taxable MV	
2024	\$2,124.00	\$0.00	\$2,124.00	\$49,85	0	\$107,62	4	\$	157,474	
2023	\$1,638.00	\$0.00	\$1,638.00	\$38,18	8	\$69,797 \$107		107,985		

Disclaimer: St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.

\$1,356.00

\$33,140

\$55,796

2022

\$1,356.00

\$0.00

\$88,936